DANCOVER®

Manual
for
Greenhouse STRONG

18-02-2022



N
o)
2
o
S
2
S
€
<
£}
c
o
>
£
©

mmin4 m




TECHNICAL CERTIFICATE

stated in the technical certificate. Please keep this technical certificate for further reference.
| |

[: l Perform assembling and operation of the greenhouse in strict accordance with the manual and operating rules:]

Description

Greenhouse STRONG is designed for creation microclimate favorable for growing garden crops on cottage and
household plots.

Greenhouse might have variable length depending on customers’ desire. Required length of green house is provided
by purchasing of packages with extending inserts. Each insert add 2 m to base length. Base length is 4 m. Height of
installed frame is
21m

The frame of the greenhouse is made of galvanized iron and is to be assembled with screws and nuts. Greenhouse
is fixed on the ground by digging special frame endings or on fundament using angles. Complete set includes all
that is needed for fastening of coverage. Greenhouse may be completed with coverage on buyer’s request. Greenhouse
has two door openings and two small windows in opposite ends.

Greenhouse base requires 3 sheets of cellular polycarbonate 2.1x6 m with 4 mm thickness. For each
Inserts - 1 sheet of cellular polycarbonate 2.1x6 m

Operationrules

Before the start of operation, the greenhouse should be assembled and installed as prescribed in the manual. When
the greenhouse is assembled by a third party the customer should supervise the quality of works to ensure compliance
with the present manual. Some detail have extra holes due to uniformity of details. During assembly, be careful not
to damage the parts, because until they assembled fully, they do not have sufficient rigidity. Use supports (e.g.,
chairs) at intermediate stages of assembly to evenly raise the assembled frame. To align the holes in difficult joints use
a nail with a diameter of 4mm or mandrel with a conical end. During assembly of the frame details’
connections should be Implemented for all specified openings. Simplified connection of the parts is a violation of
assembly rules and cause of removal warranty support by manufacturer.

Do not install the greenhouse too close to buildings or trees where masses of snow/ ice can fall on it.
Recommended distance is at least 2 m. The greenhouse is designed to withstand wind at the speed below 24 m/sec.
The greenhouse cladding should not be removed for the winter period if show load is limited. If the greenhouse is left
unattended for the entire winter the customer should either remove the cladding or estimate the possible snow
load. For the frame assembled with all parts including strainers and braces, the maximal snow load begins when the
layer of snow weight is 180 kg per 1 sqm of horizontal surface, which corresponds to regulative snow load of IV snow
region (in accordance with Classification of Building rules and regulation 2/01/07-85
«Workload and impacts»). For the greenhouse which was installed according to the rules, manufacturer
guarantee sufficient strength against snow load in the following areas: Northern areas in Russia, the Scandinavian
countries: Finland, Sweden, Norway, Denmark.

Cleaning and washing sheets of polycarbonate
1. Rinse the sheet with warm water.
2. Wash the sheet with a solution of mild soap or with a household detergent and warm water, using a soft rag or
a sponge to remove dirt.
3. Rinse with cold waterand wipe with a soft cloth.

Never use abrasives or highly alkaline cleaning compositions for cleaning polycarbonate sheets. Dry rubbing of the surface
will damage the protective layer of the cladding and shorten its shelf life. Never rub the surface of polycarbonate sheets

withbrushes, metallic cloth or other abrasive materials.
When disinfecting the greenhouse from pathogens causing fungal and bacterial diseases, do not use «sulfurblocks» to avoid

frame corrosion (blackening).

Warranty liabilities

Term for making claims is 24 months from the day of purchase Warranty does not apply to cases of:
1. Greenhouse installation in violation of instruction requirements

2. Violation of the rules of operation.

3. Inappropriate use of the greenhouse.

4. Deformation of the greenhouse as aresult of ground movement.

5. Floods, hurricanes and other natural disasters.



TECHNICAL CERTIFICATE

LIST OF BOXES FOR ASSEMBLY

Greenhouse STRONG

Base Box

Ext. Box

1/3

2/3

3/3

1/2

2/2

3x4 m
MODEL

EXTENSION FOR
GREENHOUSE 2m




TECHNICAL CERTIFICATE

DETAILED PARTS LIST BASE

BOX 1/3
Ne | marking description qu;g;ity, Ne | marking description qupe::nstity
1| 4 | L=162m ~ | 6 9| 92 |[L=t4m | 2
2| 4 | 1=162m ~ | 3 10| 93 |L=14m U | 2
3| 4ek | L=162m 7 | 2 1] 17 |L=14m =0 | 3
4| x| L=162m 7 | 2 12| 18 |L=tAm <] 6
5| amct | L=162m 7 | 2 13| 19 |L=09m )| 6
6 1 L=0,92m \_ _/')— 10 14| 20 L=0,34m \, _-/..'— 6
7| 28 | =096m ) | 12 15| 21 | L=035m )| 6
8| 91 L=0,98m \_'/” 4 16 - end ampflifier 4
BOX 2/3
Ne | marking description quantity, Ne | marking description quantity,
pcs pcs
17| 2 |L=096m <) /N | 24 31| - |topbandage 5
L=0,14m )/ . | bottom
18 3 1AM TN 14 32 bandage |_ 10
19] 5 |L=0,09m N,/ | 4 33| PK |profileL=1,05m —— | 4
20 8 L=1,04m "'.';\,‘.J__;/"w‘ 4 34 P |profile L=1,0m = 4
21| 10 = N 4 . |sealloop
L=0,82m < )/ 35 e 1
22| 11 [L=1,02m &7 /“\ 2 36 _ | sealdoor — 1
i, L=10m T
23| 11-1 |L=1,02m 7, /7 2 g7| . |sealside —1 1
— wallL=2m <
24| 12 [L=0,76m 7\ )/ 8 38 | hook for doors -/‘J' 4
T and window
25| 12-1 |L=0,32m "\, /| a4
o 39 ) loops for doors 8
— - and windows
26 13 L=0,71m &7 ‘/’W‘ 6
e 40 ) tube bend 1
27| 131 |L=0,71m /| 4 spinner
=\ A\ 41 - Handle J { 8
28| 14 |L=0,96m “ 1\ )/ 4 —
20| 15 |L=tom ). g 42| - |pin L —
30| 16 |L=0,74m 7, )| 2 43| - |bracket 8




TECHNICAL CERTIFICATE

BOX 2/3
bracket 51 | washer 160
44 for the hook 8 —
45 | screwM4 x 8 534 52| tape 1
workpiece for locking “? 4
46 | screwM4 x 10 50 53 (turner with 2 elastic nozzles; ~
47 | screwM4x25 ¢ ymmme® | 132 54 | bolt M6 x 60 10
48 :/lCé{eXV\éS 32 55 | nutM6 (rC___S:q 10
49 | self-tapping screw 6 56 | washer 6 20
50 | nut M4 &) | 748 57 | double-sidedtape L=5m 2
BOX 3/3

=] right end
= Ie_ft end § sigc’ie
IS side 2
2 pcs. pcs.
Y _\L
<«—1095 5 < 1095
base roof and
side walls It
o
6 pcs. .
2000 1

A ridge panel-2 pcs.
To]
Q 810
o
0
3 door
2 pcs. o mallwindow]
P By 2 pcs.
805
805
D o —
base roof and
side wallls S
(=}
6 pcs. .
B 2000 S




TECHNICAL CERTIFICATE

DETAILED PARTS LIST EXTENSION

BOX 1/2
Ne |marking description quantity, Ne description quantity,
pcs pcs
58| 1 [L=0,92m Ve’ 4 69 | profile L=1,0m —— 4
59| 2 |L=0,96m | 12 70 | top bandage 2
60| 2B |L=0,96m LV 6 71 | bottom bandage |_ 4
61| 3 |L=0,14m a2 4 72 | screwM4 x 10 184
62| 4H |L=1,62m f‘r ) 4 73 | screw M4 x 25 ¢ YIS 24
63| 48 [L=t62m 7 | 2 74 | nut M4 ©) | 208
64| 17 |[L=1,4m 7 2 75 | washer g 16
65| 18 |L=1,1m #, 4 76 | bolt M6 x 60 . 4
66| 19 |L=0,99m 4 77 | nut M6 ) 4
67 20 L=0.34m A 4 78 washer 6 8
double-sided tape =y
68| 21 [L=0,35m s o4 79| [25m P |1
BOX 2/2
base roof and
side walls S
O
6 pcs. .
2000 -

A



MOUNTING ON THEFOUNDATION

4060

~ 1000

1000

1000

1000

21




: Ne3 from«BOX * “Ne2 from«BOX

General view of the «Ned» . =Ned»

frame, greenhouse = T2 Im =3
— STRONG 5/ e Y e .
/“ ;:"', \\\ y
; ﬁ I\"‘ % &
; Il
L | V8
4 A ' N
< L\
%

“Ne7 fromBOX -
) «Ned» .
General view of the . A .

. =M "\.\ ' ol 4
inset  for greenhouse NN/
STRONG. Each inset
extends the greenhouse
length by2 m

Greenhouse STRONG
extended by any
number of insets

:from«BOX Ne2»

P Sper Yy LA :
‘NbxE WA % fomBoXNs

6 P S2pc;
TM4x8 M4




“Ne7 fromBOX ~ - *Ned'fromBOX~ ~ "+ +Ne5fromE0X ~ - *Ned from«BOX
*Ned» i : «Ned» T Nely © eNed»

:from«BOX Ne2»

L (&4
..~ M4x8 M4

. .. T .;...‘. .

v
R
\ ¥
\ H
\

‘N7 fromBOX -
-Ne2» :

. -from«BOX Ne2»
o & B r\QM pe.:
Md4x8 M4

:from«BOX Ne2»
e I 22 pe;
_IM4x8 M4

}(_‘.

“fromBOXNe3»
A6 D )4pe;
" IM4x8 M4




. .
. .
Ce il e * *from«BOX Ne2»

| IM4x8 M4 :

*Ne32 from«BOX
«Ned»




from«BOX Ne2» - :f'ro'rr;«édx'N:_aé»' -

i »\Q W2 pc m »’{612 pc.:,,,

g .M.4r% LI s

from«BOX Ne2»

il “"3 52 pc ..........
o "M4x8 M4
&

& from«BOX Ne2»

g WJ‘\OM pc ” - 1 \‘
'.M4x8 M4 : HNOY « % H R L jo- SR

s ‘ l
.......... 4 L L 2 - i i A : T !
6 MBS pe . | . _1 o

‘M4x8 M4

“Ne20 from« BOX
*Ne2»

X Ne21 from«BOX
oo |Ne2s

:from«BOX Ned» ™
6 B )2 pc.
“M4x8 M4

*Ne18 from«BOX
*Ne2»

‘o 1

. *from«BOX Ned” ”
.""---..-'? msg,ﬁ pe.:
TM4x8 M4




“fromBOXNe2»  «.or 7T e s e
i r«Q'iG pe iy N
TM4x8 M4 7 Q o X P

- . - \ - -
sNed- . . .. .\ 4
. & \ \ .
— \ /
. \ /
N 1

“Ne12 from«BOX
oNet-—
I

“N213 from«BOX
«Ne?-

rom«BOX Ne2»
6 W e
1M4x8 M4

Nes- .

-

! ‘.:‘.’ “‘. <
. \; &
PR oW

A
P2 7
"M4x8 M4 B

:from«BOX Ne2»
-& B )2 pe.
TM4x8 M4

:from«BOX Ne2»
L )2 e
.-IM4x8 M4

P\ -fromBOX Nz~ "~
i ﬂg; J ¢ B S2pe:

':N913 from«BOX o -

12



1 2 rfromBOXNed, " - fromBO0XNed ™ "x .+
bmf\g‘ﬂ pc.: gmr\@’ﬂ pe.:

TM4x8 M4

f?o'm'«édx'NBé» o

:fromBOX N Ned»” ot i [3@,}11 pe.:
6 S pe: "i "Max8 Mé
*M4x8 M4 :

“fromBOXNeds ™ " &S e
g. mr\Q‘H pe.: *M4x8 M4

'N°43 from
.«BOX
“Nei

:N°43 from
.«BOX
*Nei

. ] Ne16 from«BOX ==
.. -‘.-_.-. . . w . Neo1» .

I .
1 pc. 0

:from«BOX Ne2» = :from«BOX Ne2»
1§ W“Q’ﬂ pe. g4 th‘ﬂ pe.:
I M4x8 M4 : TM4x8 M4

14 ... |

from«BOX Ne2»
il r«Q )2 pc
= M4x8 M4

“from«BOX Ne2»” '-

g m P\Q A7 pe.:
M4X8 M4

from«BOX Ne2»

g mr\Q‘Q pc

“M4x8 M4

from«BOX Ne2»
' m P\Q "4 pc.:
" M4x8 M4

-from«B0X Ned»

' mr‘@% pc.E
M4X8 M4

-fromBOX N>
g m P\Q "4 pe.3
"M4x8 M4

13



*from«BOX Ne2»

:from«BOX Ne2»
LI EEH2 pe. XN
. Mﬁn; I\7I71 . . M4x8 M4

) .
\i o 2
“Ne30 from«BOX - -

15

e (Sape:

:from«BOX Ne2»
6 W) 2

M"t’( ' *Ne39 from |

: Ne44  from
.«BOX N22»

Ne36 from
«BOX Ne2»
=) 0.8

pc. -

+«BOX N22»

@) -

; tNeS:'I. from™
.. BOX Ne2»

*Ne36 from-
»«BOX Ne2» .

. 1.85 -

LIS
-

:from«BOX Ne2»
W4
- " pe. .
& .

" «BOX m . b

14



':from«BOX Ne2»

WS4
s — pc. .
M4xTo" M4*" = *

S

“Ne19 from«BOX

*Ne39 fro
~«BOX Ne2»

*Ne35 from «BOX :
"Ne2»

*Ne35 from «BOX :
“Ne2» .
-2 -035

=035
— LT o M

m

:N244 from
.«BOX Ne2»

:N(_J38 : . : fr(;rﬁ«'Béx' ----------- .

. . 4 T (e} .
r Y 1 IR R
:@L, M . - NS -

----------------- :from «BOX
: from «BOX : -Ne51 from = Ne2
: N§ B . Spe: -BOXNe2» . - (-

:Ne44 from
.«BOX Ne2»

1pc.:

1pc.  M4x25 M4

15



18-2 19 ...




20 s 21
*Ne37 . ~BOX  m .

:«BOX fro : < 7 6m ! Cellular polycarbonate shall be installed strictly defined side out

L__ A 6m- -_\ ________ . (towards the sun), which has a protective layer. The protective layer is

W . usually at the side with the inscriptions on the transport film. The film on
— "\ """ the other side of sheet is transparent. After marking the sheet, but prior to
its cutting, make a mark on the protected side of the sheet for each piece:

fter removal of the transport film sheet sides are not visually different. The
transport film is stripped from both sides immediately before fixing the
adding on the frame.

Sections of polycarbonate with

== open  honeycombs should be @
) —=——————= covered by adhesive tape. S
.\I | '
\ [l
\U 1
) ‘ 1 The arrow on the rrseaeseaaaaaas .
' - details is directed to -Ne33 from «BOX .
the front si -Ne2»
greenhouse PK—
AEE R el :IN.‘.’E.)7.fI.'O;T'I.«.B(.)X. \ 2». o

17



AN

do not fully
K. tighten!

)

/
fa

v

N
a“;

o
Vo

tighten! ™. *

18



. .,

:N257 from «BOX Ne2»
. 2pc.x1.05

"Ne33 from «BOX

“Na2,
. . “v
g2
""" T, o

\( Ne34 from BOX -
L .
\: R D_’ :

. 4pc. «

19



DANCOVER®

Contact information

Austria

Estonia

Belgium

Norway

m]xhix =
- BT
i
Bpcd

Sweden

m ;I,:_,:':ﬁ -'-
m] | e

Croatia

France

o7

o g
|':!":"'=-'al' -
O [t

s

Denmark

o

Sl

Germany

Lithuania

For more information please visit: www.dancovershop.com




